
OMB No. 3067-0195


Expires February 28, 2005
520  ACQUISITION AND RELOCATION
Community: ____________________

522  Impact Adjustment:
b.
Option 2:  rAR =  100 x (bAR                   + bRL              ) =  ______
                                bSF           + bAR          + bRL             
 

523  Credit Calculation:
a. Option 1: c520 = (bAR ____ + bRL)____ x 5 = ______  If bAR > 20, then c520 = 100.

b. Option 2: c520 = 32 x rAR ______ = ______

______

c520 = value above rounded to the nearest whole number:

c520 = ______


Enter this value on AW-720-1.


524  Credit Documentation:   

___

A map showing the location of parcels where buildings have been demolished or relocated since the effective date of the FIRM.  The map should identify those buildings that qualify as bAR and bRL.

___

Documentation showing that each site credited can also qualify for credit as preserved open space.

___

Impact Adjustment Option 2  -  Calculations showing the number of buildings in the SFHA (bSF).

___

Real estate or permit records that document the date of removal of each building.

___

Credit for buildings outside the SFHA  -  Documentation that shows that floodplain regulations are in effect in the area outside the SFHA.

504  National Flood Insurance Reform Act of 1994

___       No projects with CRS credit were funded with Flood Mitigation Assistance Program 


 Funds. 

___
 Flood Mitigation Assistance Program Funds were used to finance the acquisition and

 relocation of ____ buildings which are on the list of buildings for CRS credit.
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Community:_________________________


Verification: 


 Enter the number of buildings:



v1bAR =   bARdoc       




v1bAR  = ______


                               ss1AR         


v1bRL =   bRLdoc             




v1bRL  = ______




     ss1RL_____


Field Verification:


Enter the number of buildings:



v2bAR = bARcon         




v2bAR = _______



                     ss2AR        



v2bRL =   bRLcon             




v2bRL  = _______



 
       ss2RL_____


bAR = bAR (from above) _____ x v1bAR _____ x v2bAR ______ bAR = ________


bRL = bRL (from above) _____  x v1bRL _____ x v2bRL ______  bRL  = ________

522  Impact Adjustment:



b.
Option 2:  rAR =  100 x (bAR                   + bRL              ) =      rAR  = ________
                                     bSF           + bAR          + bRL             
 


523  Credit Calculation:


a.  Option 1: c520 = (bAR ____ + bRL)____ x 5 = ______  If bAR > 20, then c520 = 100.

     b. Option 2: c520 = 32 x rAR ______ = ______

______

      c520 = value above rounded to the nearest whole number:
c520 = ______

Comments:__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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